

ESCATEC Mechatronics Ltd, Lutterworth, LE17 4HG, UK

**PURCHASE ORDER**

		Delivery address	Invoice-to address
<b>VIAMED LTD VIAMED LTD</b>		ESCATEC MECHATRONICS LTD	ESCATEC MECHATRONICS LTD
15 STATION ROAD		Wycliffe Industrial Park	Wycliffe Industrial Park
CROSS HILLS		Leicester Road Lutterworth	Leicester Road Lutterworth
KEIGHLEY UNITED KINGDOM		LE17 4HG, Leicester	LE17 4HG, Leicester
BD20 7DT WEST MIDLANDS		United Kingdom	United Kingdom
Supplier	: 100028390	Purchase Order / Date	: 421012200 / 07-01-2026
Contact Person	: STEVE HARDAKER	Order Date	: 30-10-2025
E-Mail	: orders@viamed.co.uk	Contact Person	: Haroop Sarai
Your Order	:	Tel	:
Delivery Terms	: N/A Not applicable	E-Mail	:
Payment Terms	: S60 Current month + 2 months	Reference A	:
Our Tax Number	: GB620333292	Reference B	: TB 0A36-MCAB-17 2026

In the absence of a signed Master Purchase Agreement, ESCATEC's General Terms and Conditions of Purchase shall apply.

A copy of ESCATEC's General Terms and Conditions of Purchase can be obtained from  
<https://www.escatec.com/en/supplier-portal>

Purchase order is given under the express condition that Supplier's General Terms and Conditions shall not be applied.

Pos/Seq	Item Description	Quantity	Unit	Price /	Unit.	Net Amount	GBP	Delivery Date
10/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 144.0000 pcs			50.0000	/ pcs	7200.00		04-12-2025
11/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		04-12-2025
20/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 78.0000 pcs			50.0000	/ pcs	3900.00		04-12-2025
21/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		04-12-2025
30/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 178.0000 pcs			50.0000	/ pcs	8900.00		03-02-2026
31/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		03-02-2026

Required for builds in CZ - please book into the in-transit WH

31/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs	12.0000	/ pcs	12.00	03-02-2026
------	--	---------	-------	-------	------------

ESCATEC Mechatronics LTD

Wycliffe Industrial Park

Leicester Road, Lutterworth

LE17 4HG

United Kingdom

Phone +44 (0) 1455 55 55 00

ESCATEC Mechatronics Ltd, Lutterworth, LE17 4HG, UK

## PURCHASE ORDER

421012200 Page 2

Pos/Seq	Item Description	Quantity	Unit	Price /	Unit.	Net Amount	GBP	Delivery Date
40/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 62.0000 pcs			50.0000	/ pcs	3100.00		03-03-2026
Required for builds in CZ - please book into the in-transit WH								
41/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		03-03-2026
50/1 0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 64.0000 pcs								
50/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 64.0000 pcs			50.0000	/ pcs	3200.00		07-04-2026
Required for builds in CZ - please book into the in-transit WH								
51/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		07-04-2026
60/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 48.0000 pcs			50.0000	/ pcs	2400.00		05-05-2026
Required for builds in CZ - please book into the in-transit WH								
61/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		05-05-2026
70/1	0110432 VIAMED LTD SENSOR OXYGEN MAX-250B 2.0000 pcs			50.0000	/ pcs	100.00		12-01-2026
80/1	CARRIAGE-CHARGE CHARGE ASSOCIATED WITH CARRIAGE 1.0000 pcs			12.0000	/ pcs	12.00		12-01-2026

ESCATEC Mechatronics Ltd, Lutterworth, LE17 4HG, UK

**PURCHASE ORDER**

421012200 Page 3

Position	VAT/GST (Tax) %	VAT/GST (Tax)	Amount
28800.00	20.00	5776.80 GBP	34660.80 GBP
Total Amount			34660.80 GBP

ESCATEC Mechatronics Ltd, Lutterworth, LE17 4HG, UK

**PURCHASE ORDER**

**421012200 Page 4**

Supplier shall perform 100% on time delivery and provide PO confirmation within 5 working days.

Each shipment on Printed Circuit Board (PCB) or customized parts must come with

Material Certificate of Conformance OR Outgoing Inspection Report.

Each Shipment on stockist purchase part and resin must come with Material Certificate Of Conformance

All ESD sensitive component protective material shall comply with ESD standard. All components

MUST be ROHS Compliant as per EU requirements & free from Bismuth containing termination.

All components MUST be Conflict Mineral Free (comply to Dodd-Frank 'Conflict Minerals' Law).

This is a computer generated Purchase Order. No signature is required.

ESCATEC Mechatronics Ltd

Approved by